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• compare the size of the cover returned by the greedy 
algorithm to optimal

• The optimal is unknown
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• Each segment of the tour problem now has a cost

• find a tour
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: show a 
for , in case the 

cost function satisfies the 
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Optimization Vertex Cover

Greedy 
Algorithm

Spanning Tree

Set Cover
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Spanning 

Tree

Independent 
Set

P NP-Hard
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TSP
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http://en.wikipedia.org/wiki/Optimization_(computer_science)
http://en.wikipedia.org/wiki/Vertex_cover_problem
http://en.wikipedia.org/wiki/Greedy_algorithm
http://en.wikipedia.org/wiki/Greedy_algorithm
http://en.wikipedia.org/wiki/Spanning_tree_(mathematics)
http://en.wikipedia.org/wiki/Set_cover_problem
http://en.wikipedia.org/wiki/Minimum_spanning_tree
http://en.wikipedia.org/wiki/Minimum_spanning_tree
http://en.wikipedia.org/wiki/Minimum_spanning_tree
http://en.wikipedia.org/wiki/Independent_set
http://en.wikipedia.org/wiki/Independent_set
http://en.wikipedia.org/wiki/P_(complexity)
http://en.wikipedia.org/wiki/NP-hard
http://en.wikipedia.org/wiki/NP-hard
http://en.wikipedia.org/wiki/NP-hard
http://en.wikipedia.org/wiki/Hamiltonian_path
http://en.wikipedia.org/wiki/Hamiltonian_path
http://en.wikipedia.org/wiki/Traveling_salesman_problem
http://en.wikipedia.org/wiki/Clique_problem
http://en.wikipedia.org/wiki/Boolean_satisfiability_problem
http://en.wikipedia.org/wiki/Boolean_satisfiability_problem

